Quick Release Mounts for Sim Rigs

N QR4rigs’

® Change your rig in seconds, spend more time in the game!

The QRMiin System is designed for rapid mount and dismount of Rudder Pedals and Racing Pedals to and
from your rig

Fitting the QRMinSteel TPR Quick Release Plate Kit to your TPR Pendular Rudder Pedals

The kit comes pre-assembled with the QR Plates installed in each corner in the correct
orientation.

NOTE: The QR Plates are fixed to the Steel Plate with M6 fixings that will require a final
tightening later on before use.

The fixing kit supplied comprises of the following Stainless Steel components:

e 2x M8 x 25mm Countersunk Screws (front)
e 2x M8 x 30mm Countersunk Screws (rear)
e 4x M8 Washers

e 4x M8 Dome Nuts

For ease of mounting, sit the TPR Pedals on
their back to gain access to the base.

Looking from the underside, the arrangement
of the plates is shown here (left) for
reference. The front is at the top of the
picture.

Use the M8x25mm CSK Screws, pushed
through the assembly and the front holes of
the TPR Pedals as shown and fix with a
washer and M8 Dome Nut on each, finger
tight only at this stage.

Use the M8x30mm CSK Screws, pushed through the assembly and the rear holes of the TPR Pedals as shown and fix
with a washer and M8 Dome Nut on each, finger tight only at this stage.

e Align edges ‘B’ of each front QR Plate with edge ‘A’ of the Steel Plate.
e Align edges ‘C’ of each rear Hook Plate with the same edge of the Steel Plate following the curve.

Tighten all the M8 screws using a 5mm Allen Key and a 13mm spanner or socket to hold the nut. Tighten well, but do
not overtighten.

Finally, using a 4mm Allen Key, tighten all the M6 screws. Tighten well, but do not overtighten.

Happy Flying, maybe see you in the skies!

If you require further support, please use the contact form on our website, or email us directly
support@agrarigs.com, we will be more than happy to help you.



https://qr4rigs.com/index.php?main_page=contact_us
mailto:support@qr4rigs.com

